Unit 2 Review Sheet Work:

Friday, October 03, 2014

Mult Chaice Anowers on Back: 6.B 8.C 23.C 25.E 41.A

2. a.
$$y = |x+3|-1 \longrightarrow x+3=0 \longrightarrow x = -3$$
 Corner

b.
$$y = (2x-1)^{\frac{5}{3}} \leftarrow Even + bough + his is odd, it is not < 1.$$
No non-differentiabilities.

c.
$$f(x) = \frac{5+x}{2x+4} \longrightarrow 2x+4=0 \longrightarrow x = -2$$
 (Vertical Asymptote)

Infinite Discontinuity

$$d. g(x) = \sqrt[3]{(2x-7)^2} = (2x-7)^{\frac{2}{3}} \rightarrow 2x-7=0 \rightarrow x=\frac{7}{2}$$

$$\underbrace{even}_{odd} \qquad Cusp$$

4a.
$$\frac{\sqrt{angent}}{y = sin \times x = 0}$$
, $y = 0$, $m = 1$ [from 3a]
 $y = mx + b \longrightarrow y = 1x \longrightarrow y = x$
Normal:

$$\frac{1}{x=0, y=0, m=-1}$$

$$y=mx+b \longrightarrow y=-1x \longrightarrow y=-x$$

$$f(x) = e^{x}, x = 2, y = e^{2}, m = 7.389 = e^{2} [from 3b]$$

$$y - y_{1} = m(x - x_{1}) \longrightarrow y - e^{2} = e^{2}(x - 2) \text{ or } y - e^{2} = 7.389(x - 2)$$

$$f(x) = e^{-x} \quad x = 2, y = e^{-2}, \ m \approx -.135 = \frac{-1}{e^{-2}}$$

$$y - y_1 = m \quad (x - x_1) \longrightarrow y - e^{-2} = \frac{-1}{e^{-2}} (x - 2) \text{ or } y - e^{-2} = -.135 (x - 2)$$

5. a.
$$y' = \lim_{h \to 0} \frac{3(x+h) - 3x}{h}$$
 b. $y' = \lim_{h \to 0} \frac{5}{x+h} - \frac{5}{x}$

5. A.
$$y' = \lim_{h \to 0} \frac{3(x+h) - 3x}{h}$$

$$= \lim_{h \to 0} \frac{3x + 3h - 3x}{h}$$

$$= \lim_{h \to 0} \frac{3k}{h} = 3$$

$$\therefore y' = 3$$

$$= \lim_{h \to 0} \frac{3x+3h-3k}{h}$$

$$= \lim_{h \to 0} \frac{5(x)}{h} - \frac{5(x+h)}{x(x+h)}$$

$$= \lim_{h \to 0} \frac{3k}{h} = 3$$

$$= \lim_{h \to 0} \frac{5x}{x(x+h)} - \frac{5x+5h}{x(x+h)}$$

$$= \lim_{h \to 0} \frac{5x-5x-5h}{x(x+h)}$$

$$= \lim_{h \to 0} \frac{5x-5x-5h}{x(x+h)}$$

$$= \lim_{h \to 0} \frac{-5k}{x(x+h)} \cdot \frac{1}{k} = \frac{-5}{x^2}$$

$$\therefore y' = -\frac{5}{x^2}$$

b. $y' = \lim_{h \to 0} \frac{\frac{5}{x+h} - \frac{5}{x}}{h}$

c.
$$f'(x) = \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$= \lim_{h \to 0} \frac{1 - (x+h)^2 - (1-x^2)}{h}$$

$$d. g'(x) = \lim_{h \to 0} \frac{\sqrt{3(x+h)} - \sqrt{3x}}{h(\sqrt{3x+3h} + \sqrt{3x})}$$

$$= \lim_{h \to 0} \frac{3x+3h - 3x}{h(\sqrt{3x+3h} + \sqrt{3x})}$$

$$= \lim_{h \to 0} \frac{3k}{h(\sqrt{3x+3h} + \sqrt{3x})}$$

$$= \lim_{h \to 0} \frac{3k}{h(\sqrt{3x+3h} + \sqrt{3x})} = \frac{3}{2\sqrt{3x}}$$

$$\therefore g'(x) = \frac{3}{2\sqrt{3x}}$$